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1. Evaluate |im Vx-1 _9

x—1 :{/;_1 '

1 3 5 1 3
(A)E (B) > (C)E (D)g (E)g

Jx—4

2. Evaluate lm ———="?

x—>16\/;_4\/;_2=

1 2 4 5
(A)§ (B) 3 ©)1 (D)g (E)§

1-cosx
==

3. Find lim
x—0 5X

?

1 1 1 1 1
(A)E (B)Z (C)E (D)g (E)E

2
4. Find Iiml_ X =7

x=1 SIN 72X

®: ®L ©f O E
T 2 T 4

5. Evaluate i(93X2) =?
dx

(A)3x2-9%1 (B)9* .In9 (C)9% -log9 (D)IN9-9% .-6x (E)log9-9*" -6x

6. Evaluate i(xx):?
dx

(A)x* B)x*(Inx-1) (C)x*(Inx+1) (D)x*(logx+1) (E)(Inx+1)

-1
7. Evaluate i arCC(_)SX :i C(_)S_lx =7
dx \ arcsin x dx | sin™ x

A —(sin‘1x+cos‘lx) B —(sinx+cos‘l x) C —sintx
W \/1—x2(sin’lx)2 ® \/F(sin’lx)2 ( )\ll—x2

D —(sin‘1x+cos‘lx) £ —(sin‘1x+cos‘1x)
®) V1-x?(cos* xf ® V1+ % (cos* xf




1
8. Assume f(x)=x* - please find f'(x)="?

(A)Inx{e—2+i2} (B)ex[m_ZXJriz} (C)xx[—ln—zx+i2} (D)XX{_logszr_} (E)Xi{xlnijiz}
X X XX X° X X

9. Assume f(x)= Iog7[6x3 —7x° +5x] » please find f/(x) =2

18x? —14x+5 18x? —14x+5 18x%* —14x+5
A — 2T B) log7 C) In7
( )6x3—7x2+5x (B) log {6x3—7x2+5x} © {6x3—7x2+5x
2
(E) 1 18§ —1§x+5
In7] 6x° —7x° +5x

4x -3

4
10. Evaluate X =
~[3 (2x* =3x—2)*
29 11 73 63 156
A= (B)— (C D E
( )176 ( )126 ( )129 ( )133 ( )229

11. If we know £{f (t)}:J:Oe’St- f(t)-dt , please evaluate £{sinot}="

s a s? 1 a’

52+0[2 (B) SZ+0£2 (C) (D) 2 2 (E)

A
@ s+’ ’+a s’ +a’

12. According to 11. please evaluate £{sintcostj="?

S 2 s? 1 2?
B C D E)———
s°+4 ()sz+4 ()sz+22 ( )sz+4 ()52+22

(A)

13. Evaluate .[ secxdx =?2+C

(A)Injsecx+tanx| (B)Injsecx-tanx (C)Injescx-tanx| (D) Injcsc x + tan X

14. Evaluate r 2" dx =2

. | =
2 1 2 4
A)— B)0 C)— D)— E)—
()In8 ®) ()Ine ()In4 ()In2

X

e

1+ e? dx=7

03
15. Evaluate L' ?

X

1 | 18x*—14x+5
(D) T
log 7| 6x° —7Xx° +5x

(E) log|csc x - tan

|



T T VA T T
(A)g (B)Z (C)E (D)ﬁ (E)%

16. Evaluate j )d =7
(A)[(l—g)lnﬁ}—gx (B)[(lwﬂnﬁ}ﬂx (C)[(l+g)lnﬁ}—ax

(D)[(l—g) In i} —&X (E)[(1+ &)ln L}—zgx
1+X 1+X

(1+x) "
(L-x)’

(A)[—glni}(ug)i (B)[ Ini}+(1+g)— (C)[ |ni}+(1 g)—
1-x 1-x 1+x X 1+x —X

(D)[ Ini}+(l g)— (E) [ Ini}ﬂl (c:)i
1+x 1+x 1+x 1+X

18. Find the area of the region bounded by x=y* and x=y+2.

3 5 7 9
(A)E (B)E (C)E (D)E (BE)2

19. The region enclosed by y=3x—x* and y=0 is rotated about the line x=-1. Find the volume of the
resulting solid.

16 45 16 45
(A)E” (5)7” (C)g (D)7 (E)157

sin 4x

01+ X0

(A)456 (B)321 (C)213 (D)933 (E)O

dx="?

20. Evaluate J'

COS X

X1+ 7°

(A)COS%E (B)SIH%E (C)tan%;; (D)cot%ﬁ (E)o

21. Evaluate I dx="?

22. Evaluate j cos ™ xdx = ?
(A) x*sin" x+v1+x* +C  (B)xcos ' x—v1-x>+C (C)xcosx++v1+x*+C

(D) xsin'x+v1-x*+C (E)xcosx++1+x*> +C



2
23. Evaluate I AX” + 20X +25 dx = ?

16x% +120x% + 300x + 250

(A) % In2x-10]+c (B) % InBx-10|+c (C) % In|4x +10]+c

(D)%In|5x—10| +C (E)%In|7x+10| +C

2
24. Evaluate I , xsec™ xdx =?
7

3 43 5 3 9 2 5 3 5 7
(A)Z”—? (B)7ﬂ+7 (C)gﬂ'+? (D)§7z'—? (E)gﬂ_,_?

25 rmERAI Y R G mEHE S D RE S - By mEE 1,000t S ] S mEE S 8,000
¢ RIESEr [ wHRES § 0 e?
(A)128,000 (B)300,000 (C)588,000 (D)598,000 (E)800,000



